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Genral Instruction to the Examinees :

I. TR dyeM 31U UeEUS WX AMid ffHarid: fored |

Candidate must write first his’/her Roll No. on the question paper compulsorily.

II. <99 gz & sifvard &

All the questions are compulsory.

. YRS U &I SR &l T3 SIRYRADT H & o |

Write the answer to each question in the given answer book only.

IV. 59 usHl # oaRe woe 8, 99 Wl & SR U Rl 81 ford |
For questions having more than one part the answers to those parts are to be
written together in continuity.

V. U UF & fF< 9 3l SumR # 6 yeR &1 FJfe /iR / fokemra gF
UR &1 WINT & U Pl B Hel HH |
Ifthere is any error/difference/contradiction in Hindi & English versions of the

question paper, the question of Hindi version should be treated valid.




Yrs—3A
SECTION- A

(i) 12 3IR 15 BT <Y 3R AFY RIT BRI ?

(31) 60 3R 3 (@) 24 3R 6

(¥) 12 3R 30 () sTH | P8 81 1
Find the LCM and HCF of 12 and 15 ?

(a) 60 and 3 (b)24 and 6

(c) 12 and 30 (d) None of'these

(i) 98US H 3%’ 1 4x—2 IIDI B AT BRI ?

(31) 1 @) 2

) o @) T ¥ P13 T8I 1
Numbers of zeroes in polynomial 3x2 + 4x —2 18 ?

() 1 (b)2

(© 0 (d) None of'these

(iii) T fog & frdenis 8§ ?

@) (1,2) @ (1, 1)

®) -1, 1) (=) 0,0) 1
The Coordinates of origin are ?

(a) (1,2) (b)(1, 1)

(¢) -1, 1) (d) (0,0)

(iv) I 2x+y=6 B I SHDI I B Tl JH 8 ?

@) (1,2) @ 21

(®) (2,2) ) @D 1
Which pair is satisfy the lines equation 2x +y =6 ?

(a) (1,2) (b2, 1)

(c) (2,2) (d) (1, 1)

(V) IR ax® 4 bx+c=0 . a=0 P Hol dRifdd -8l 8 I
() b>-4ac<0 @) b*-4ac>0

() b>-4ac=0 (@) 3 ¥ ®Ig T8l 1

2




In which condition the roots are not real in Quadratic equation

ax’+bx+c=0,a%#0

(@) b*-4ac<0 (®) b* —4ac>0
(©) b>—4ac=0 (d) None ofthese
(vi) Uh IR ST 3, 7, 11, 15 oo % o ATHe=R 8T ?
(31) 1 @) 2
() 3 (@) 4
The common difference forand AP. 3,7, 11, 15......... will be
() 1 (b)2
(c) 3 (d) 4
(vii) 2sin45° cos45° &I A BT ?
1
@ 5 @ 2
(%) 1 (%) 0

The value of 2sin 45° cos45° will be ?

(a) % (b)2

(o) 1 (d) o

(viil) Th g &1 fobail Tl Y@ 81 dadl 8 ?
@) TP (®) s

(@) q= (&) = =8l

How many tangents can a circle have ?

(a) One (b) Infinite

(c) Three (d) Unknown

(ix) g DT &5l S B DI Gl & ?

@) 2 @ o5

&) nr? (@) 3 ¥ ®Ig T8l




Which one of the formula to find area of circle ?

2

nr
(@) 2nr ®) 25
©) nr? (d) None ofthese

(x) AT TP A9 Bl HdATg 11 IR T2 SHD] dsb O &% 968 HHI
g Al 99 @l BT srlr ?

(31) 10 T @) 11 I

(|) 12 I (T) 14 0 1

If a height of a cylinder is 11 cm and its curved surface area is 968 cm?, then the

radies of cylinder will be ?

(a) 10 cm (b) 11 cm

(¢c) 12cm (d) 14 cm

(xi) ¥ 7,4,5,3,4,3,4,1, 2 <l 5gcTh BT—

(a1) 7 |) 4

| 3 (®) 2 1
Mode of the distribution 7, 4, 5, 3,4, 3,4, 1, 2is—

(a) 7 (b) 4

() 3 (d)2

(xii) T®H UTH BT Uh IR Bbl Sl & | AT GAT BT YT B bl
I T—

@ 5 @ =

&) o (@) 1 1

A die is thrown once, then the probability of getting a prime number is—

@ > Ok
2 3
(c) 0 (d) 1
() 3425 T o HeT 87 (uf / Saie) 1
3425 0sa .. number ? (Rational / Irrational)




Allcirclesare ............... (Congruent / Similar)

(i) tan30° tan60° BT A ..o BT ? 1
Value of tan30° tan 60° is........... ?

(iv) I B w2l @ iR BT & 4 BT DIV §T & ? (=
P / 3MfSPH BT/ HADIO) 1
Angle between a tangent and a radies of circleis ................ (Acute angle /

Obtuse angle /Right angle )
(v) g AlBel BT ARG S DR BT G 5 — g7 1

Formule of finding mean of a grouped datais x —

(vi) el TmTa =T o B9 SRt MRl ... B S | 1

The probability of an impossible event is................. :

(i) =R 9T TR R T gd SAfgda i ot vd fafe | 1
Find the condition of unique solution for pair of linear equation in two variables.
(ii) fGoTd FHERT a5 1 bx +c=0 P A AT BA BT 37 xR ¥
forfeay ? 1
Write the Shree Dharacharya formula to find roots of quadratic equation

ax’+bx+¢c=0-

(iii) TR 911 2, 5, 8, 11 . % 12 UGT BT AFT S BT 2 1
Find the sumof AP.2,5,8, 11 ........... to (12" term)

(iv) ST FASY Sl & YoTsll &7 U 4 @ 9 &1 I 391 &Ml Bl &
&Sl BT STUTT I DISTY | 1




Ifratio of sides of two similar triangles is 4 : 9, the find the ratio of areas of

these two triangles.
sec 40" sec50°
— G| E[? \le ?
V) cosec50’  cosecd0’ T ' 1

sec 40" sec50°

cosec50° cosec40’

Find the value of

(vi) 9sec’0—9tan>0 HT A FId BT ? 1
Find the value of 9sec*©—-9tan’0

(vii) T% 999 THh HAR DI BT IGD! $HAg & IRI6 81 oIl &,

S~TI9 BIUT ST BT ? 1

At a time, the shadow of a tower is equal to height of tower. Find the angle of

elevation ?
(viii) ST IS SRIT W BIOT g BT AM 1A HIIY ? 1
C
10m
0 ]
A 1033 m B
Find the value of angle @ in given figure ?
C
10m
0 ]
A 1033 m B




(ix) I T fd5 PH O s dlel fHHl gt R PA, PB T3 VU URER
80° & DI UR Gehl 8 Al SAOB P AF S BRI ? 1
Iftangent PA and PB from a point P to a circle with centre O are inclined

to each other at the angle of 80°. Then find /AQOB .

(x) 19 G THT Ush VERIUS Wiy 3R §9 2 1 & 31U H faIisTa
PITY ? TFT ART BT A9 [T | 1

Draw a line segment of a length 9 cm and divide into the ratio 2 : 1 mesure the

two parts.

(xi) 6 T AT Al U Ied & U [ASI@US Bl &G S DIy,
fSTIeT P17 60° B ? 1

Find the area of a sector of a circle with redius 6 cm, if angle of the sector is
60°.

(xii) TP I H 3 HAell, 2 The 3R 4 A g 21 39 99 H 9 (& I
AT [FhTell ST & AT 3Hd! &l UIiddhar & & Farell 15 I <ol
g ? 1

A box contains 3 blue, 2 white and 4 red ball. Ifa box is draw at random from

box, what is the probability that will be blue ball ?

Yus—d
SECTION-B

T AR 616 IR 32 BT #&<H FHYAD (HCF) 9T HIfog 1 2
Find the HCF of two numbers 616 and 32.
U g9 98U Sd DIy, [STHS 2dh 4 qAT 1 5 ? 2

Find a guadratic polynomial, whose zeroes 4 and 1 ?

fEend FHIERT 6x2 —x —2=0 Eﬁ?ﬁﬁﬁaﬁﬁ?? 2
Find a roots of guadratic equation ¢x?> —x -2 =0 ?

g3l (1, —5) 3R (—4, 5) BT SIS dlel NGV BT —3AHed (b 31guTad
# o wear 8, 91d difstg ? 2




10.

11.

12.

13.

14.

Find the ratio, in which x-axis divides the line segment joining the points (1, -5)
and (-4, 5). 2
fH | 60 m T ST W Teh TG 3G T ¢ | T H ol S BT TRl Y
T o o forg T Sy faam T B | ffF 3 e S o1 gohTa 60° T | I8 AR
for S | IS @ &1 ®, SR ! oTsE i ifs | 2

A kite is flying at a height of 60 m above the ground. The string attached to the
kite is temporarily tied to a point on the ground. The inclination of the string with
the ground is 60°. Find the length of the string, assuming that there is no slack in

the string,
6.7 T TS BT U WIRIUS WIdhy ITBT 2 : 3 H <IRF et
HIfoTy ? 2

Draw a line segment of length 6.7 cm and divide it into 2 : 3 internally ?
5 Tl 0T & U ged WR U &1 Wi @Y Fifey, § RER @ 60°
BIT TR S[DI B | 2

Draw a pair of tangents to a circle of radius 5 cm, which are inclined to each

other at angle of 60° .
gfe a1 F2rgoil & esthdl )1eR 81 df g BifoY o el darraH
Bl B ? 2

Ifthat area of two similar triangles are equal, prove that they are congrunt.
Th g & e & g5 ol e 14 9 2| 39 48 @ gRI 5 e

T 3fad eEmd 3hd By ? 2

The length of the minute hand of a clock is 14 cm. Find the area swept by the
minute hand in 5 minutes ?

ST 4.2 T ATl G & T Tl BT UEATdR? a1 6 1 alel U
I & WY H AT ST & | 99 Bl Hdlg F1d DIy ? 2

A metalic sphere of radius 4.2 cm is melted and recast into the shape of a

cylinder of radius 6 cm. Find the height of the cylinder ?
fammtt 5.5ecmx10cm x3.5¢m el U 89T 9999 & foIT 1.75 91 &I
2 TAUH AT a1 fha aidl & Riapi &1 fUaam=T g ? 2

How many silver coins 1.75 cm is diameter and of thickness 2 mm, must be

melted to form a cuboid of dimensions 5.5cmx10cmx3.5¢cm ?




15.

16.

17.

18.

19.

20.

1 IRWRAT §9 &1 98- 31d Hifvu ?
X 20 30 40 50 60 70 | 80

f 6 " 7 4 4 2 1

Find the mean of the following frequency distribution ?

X 20 30 40 50 60 70 80

6 " 7 4 4 2 1

ST RIS ASIRB RO o1 U g Weld 21 I8 9d & 6 A 8=
S @1 URIhdT 0.38 81 B & 39 Siidd & =T a1 8 2 2

Two Players A and B play a tennis match. It is known that the probability of a

winning the maths is 0.38. What is the probability of B winning the match ?

Yis—

SECTION- C
AP 17,1513, ... ¥ fera o< forg ST arfer ST M 81 €17 3
How many terms ofthe AP. : 17, 15,13,............ must be taken, so that their
sumis 817
g BINTY 16 fovg (2, —2) , (—2, 1) T2 (5, 2) U EHBIUT el & oy
g | 3
Prove that the point (2, -2) , (-2, 1) and (5, 2) are vertices of a right angled
triangle.
FrefARad aflepa sfievel BT dBicud "Ry Al gRT #RY S HITY ?
i 11—13 |13—15| 1517 |17—19 | 19—21 |21—23|23—25
EIRSINGI) 7 6 9 13 20 5 4 3

Find the mean of the following grouped data using the assumed mean method.

Class 11—13 [13—15 [15—17 [17—19 | 19—21 |21—23 |23—25
Frequency 7 6 9 13 20 5 4 3
g HINTY 16 (5 g & (6l 9 & RRE R Sl 75 w2l Wi
HATR B 8? 3




21.

22.

Prove that the tangents drawn at the ends of a diameter of a circle are parallel.

grs—q
SECTION- D
/=1 IRgep FHIBIUT ¥ DT TR [T §RT & HIToIQ ?
2x+y=6; 2x-3y=2

3fera
/=1 IRgep FHIBIUT ¥ DT TR [T §RT & HIToIQ ?
X+3y=6; 2x-3y=12 4

Solve the following pair of linear equations by graphical method :
2x+y=6; 2x-3y=2

Or
Solve the following pair of linear equations by graphical method :
X+3y=6; 2x-3y=12
g Py

1+sin A
1-sin A

=secA+tan A

3rerar
g P o

cos A 1+sin A
_l’_

- =2sec A 4
1+sin A cos A
Prove that
1+si
s%nA =secA+tan A
1-sin A
Or
Prove that
A )
cosS +1+SmA:2secA

1+sin A cos A

10




23.

Frefafea aro feet sreqara ® wek fovi ot A oot gu Afiri ot o1mg

T —

g (T H) 5-15 15-25 | 25-35 | 35-45 |45-55 |55-65

TR =1 e 6 11 21 23 14 5
ST Sihg! o Sgeish SN AIET I hiIfT | 4

AT

FreAfefEd arwmRar sed frdt digect & 68 SUHIRIST i fostel i
e WU ST S | 57 SAhS| o HEdh SR Igerh 1 hifeg |

ek wad (STl H) IS Bl T

65 -85 4

85-105 5

105 -125 13

125 - 145 20

145 - 165 14

165 - 185 8

185 - 205 4
The following table shows the ages of the patients admitted in a hospital during a
year :
Age(inyears) | 5-15 | 15-25 | 25-35 | 35-45 |45-55 ]55-65
No. of Patients 6 11 21 23 14 5

Find the mode and the mean of the data given above.

Or

The following frequency distribution gives the monthly consumption of electricity
of 68 consumers of'a locality. Find the median, and mode of the data.

Monthly Consumption Number of
(inunits) Consumers
65— 85 4
85—-105 5
105 - 125 13
125 - 145 20
145 - 165 14
165 — 185 8
185205 4

11




